Wer 01,1025 |4
Week Lo *
QLore B pdu. GL I

A A Pt
Lack wWeel e dos v i Lo onbagrell

®

(R = [ Fee) Ll dt

(om —\—:\- Gon fovae {idd, ok skands Laor the worle done by
= pimg C (b T 6 Q).

Nud wyel Thae o ane chae mtw\,wm,ﬁﬁ‘om of wckeared

. Y
—

= / - £
= | o B yeasonn e amouwndt
(/\/6 Win %’ » le ele 0 an Lg/ the %Q,vvp d y e T eas nk b amoun
— . i N
e {& wid Kewing &Qx-ﬁwgr C e wnik bune, Honee

-3

(edi=( EERE

C C
5 e Gmotnt o %/(éwé J{&own% ;&wc& O e nd B e
Cmugcwﬁﬂ,ww/v\){mu\wl?\ ko (ol P oiedekion

e.q. Tud Jo How § \~—q¢t+gﬁ/%% &qur Rl = ok 2
+ZW\JCA+E@ felo, W21

, o ‘ X Y, A
Y SRR SRS N N > / A |

F(t): Cux’t‘ st -V
\i(F(&’\ T\F((t
AP
w(cb byt L) (Ret el 746

— ( co\ﬂ% Cost +E Cosk + 6= t)

Jﬁjéw = guc@o E b foet tut) dk = - (e #

2



fg\ﬂt C \a% & S Ul H/L (/Q/@A,»J et on fn \fvumg m(,“,,(ﬂgﬂ

o anbdockwne W T (uni€) tamaod v

N @C'(JC ) /b}/(’c/ )
\} R + \/}1:56) w\ N
71 €

ek Guter (}ULU() Woovim L L

e+ yie
Thae @{Mx\ wk( T} s Cw
| Eonds
0
U& ng Vi LkQ,& -
g Eoads = j [“‘l&%w\\)clx
C C
P’g: v OA \bw \ 2 s
S\”-m clé'::g \"{UL\) Wﬂj 1(6),} J‘;(T;J(% 1t
C ba \T‘X' J‘%
| b
::j M{C () wyte) - M(c(u)% () dE
(x |

- (" Hdy N

i

[z



-3

. — . ) . ; . 7
93 : \/CV\OL e {\,’UA% 2’!\’_ == ()(— (?)L) Q L 3\ LOUSAS U(/w’{_ LL
Gl qler\{L:: A
e seomd ok ?mqmeﬁ%&ﬁ”m\ X /L\‘{*VA(H\_{)\ = (ost D4 'SC”JC/B\ .

’EC’ [o, 7 ‘ | | |
T A B L

X, Y
b
los € SHT‘Q uﬁ(&m i(g\ M&%~\\\>47§
Yo

gl
=1 (orbcir ) (0% &) = B b (507 E) Ak

6

ay
— gl @o&l'% A
6

= U #
X A ~
\Vector (éu@@)

\@w OW‘LQ/H ey (o M S CW] ’ng/ (o |
M L (5%( ¢ v’o;&% ) (i (/}le/l/l U 3 (o A4 CLé f«:’m A

1v4 3( oL fenoed 5?13 C'} S

beumdary po ils
. he & 2l Lol W setvsfuing
(@A@ﬁeg/dwgm?mn%wﬂfwgmwﬁaﬂs
(ft(» xchud e boundany Mo )
@ For any ? @ - & How o & s the Cwue L R

-

(jovmeuﬁf\% T amd @\ s



V@C{@Y bMS (e VEY @(/M//w(// U@Jl@d%s,

L sbAJ/% RYDA N YT

SQ e, 4kl Fol an apm qeyion Lo Con Ce e,

J P Ho v G ugion.

b G RAT=0 b wen G
C

fas d’&% b G plectimint clgede Gunyed,
—~3

A fidd F w 1/1qu& Wt

> . - A
(FdP =) FdO,
“ Cs A 3
]W\/ C[/CL U <¢M che Sane P tﬁ Q .

freditnk 1§ some fuadkion

Jo' G grediimk vl 4w bl

3

e F= Vdi/ oY

od _y, 2 _ ) (n=2)
QX'V 29 : .

@ s C&MIQ(L O~ ?70 JFCQJLZ}M :Q” JV“Y “ /k;&” ) /W%?DUL c(/)w

Tl fundhm

{;ﬁ e [}\d (‘&C/‘@“(ﬁ:\ (Cg (e &(MS?LJIWT‘A,

Mf Lo Q(MW B gmooth vof oo Cosewadvd Jf
/\;‘t Ay Am d Ql/\/% A j’&t& /CJ)?; /{/{f v QV i di Vvt/ﬁw : Z‘J((ﬂ IQO'U*Q\, o
Pu‘('%abévh ‘;D: S akes }‘«Qﬂ

L

A

G&)-6(7)= Fdr, v O
C



(e

[)c"d’/& (/run/\ Y lf&

(o vt s

how )

€9 .

C)

.

F: %LC\+2(K’\)/9 /gf

(oo der nate paths Ci, o, (G Ao (!
(Ofl) Z’T&):’—Cmbﬁﬂwe’\ {6[0 77 j

2= (e e (o -(1,2])

(o1) ‘\ = (18, 1), kel

C((°/
C SR
/1) ?ﬂ(fc)“évt)ﬁﬁéio (]
(D fo, (1
e v =%, ,Lelo )

Vpsta Ui v iy S }E,CLV:J = Adr = J F‘N\
C

¢

C, 4
= fg
T, fad, F ohas 4 pottral
%(,%) (X () OL .,

€y, Y=ty e

+ oo d[d(/ 200 dao TexC, e omit it

/a) 73 (O/)/

|5



LQKJC UMuL/ LOLu b d;j@yn/[%g 4\/3; L W&clcérf(i—or
”Lt &vi{md %ffgﬂbw( 7y d*/’

Cotfvl}>0m€n+ ot

IJFF;"’ ?J””&{”Jr/ than ”\4 27{ (/’):7,) ) or
oM o K&M_ U)— oN el (n=3)
STk, 02 ok ot %

Iijt 9}’ ade Cmf) then

ot oy FoHAWTHEE
[0 _2d ,.,‘bSD/ <
M gx/[\l ogxf - So

Q'»\M (é(\ll
rb)”vi /t;%% ) 99 Qx&‘ﬁ 2 79 ax )

PE; ?%ax’ 9><() yt o oxX
0 q) - @M - E(:
R TR

e NI/ Rk

€.9. Fad @ ‘m{‘bﬂw& foe
F/’: ’@/%U}l (%/%},"Z)

(b ang) | )
o By Hoe M= 0%;!}:4%/ N = @M gty P 9’%”5’?"2

M = - 4Hm (X*‘V)f&/ = 9“’( ")&“ﬁ *LZ//Z}/

9% 7Y

g 251“””1%9/]/*5
\ CO,M, _@\Z

J/L_ o
N _ gy ,79 2 ) = agMmyx /s 29T

X

i3



gc@n@ﬁ(xmﬁ/ tle 6J615\€/'5 Gl é&tﬂ . IV \E&(/ﬁ/ é/% oLj&uz\,gy"Cm/ [__3/.

- oMW _ gHm
0o A= g

Q% F/CC( (: I)DILJMH@( ﬁqf
(“JF:/';}Z(L+2(>(_|)9 3\ M

r D ol — Do
?%Wba ny'= 24, %L\)Z:}? o)y =2y Pass Hu test

oLy =2 T=oy'+ Gy
X

(L _ vy by = ale)y  (Shodd el &
70 = 22X Y -2l

U oly)= 2y
QU’(}):v(g}L{—C
¢=aya-y+ C
QC;) X [;/\.': o( 6 YO "(Z%bé\a;ﬁ fvy/

A
Fo (0Fe pey)it(z-ehmg i+ lyed) b

o *_QXW%}%% ‘”\/f- AT m_a,%

vl
2% [~ 2
o M c oM —al
9'5{%“/{9/%{ droVpr T aX

8]

o PR

&Z)%"X/ tg 27 oY -

—

}l ]"W@ Ehu &lxui)omevnf T(sf



F— €t gt yzxt Y2

0P Lo an o 2+ 29
%/%j — € S‘f”i/‘/()’i“%%%ﬁ/g
= Y3 AN Y ( todd 5l G)

52 o ol = hi()

— 2yt R
_ gtz (dedd et )

A z, i) = %*C ~

l)a tonb o
F = Ty xy 2+ £+C g



